
QCM d’entrainement
Nombres relatifs

Les Histo
ires

V
incent

dupère

Corriger

Résultats

Question 1
Question 2
Question 3
Question 4
Question 5
Question 6
Question 7
Question 8
Question 9
Question 10

Total



Effectuer les calculs suivants sans calculatrice.

Question 1. (−1) + (−5) =

Question 2. −3 + 7 =

Question 3. −5 − 1 + 3 =

Question 4. (−2) × 4 =

Question 5. (−2) × (−2) × (−2) =

Question 6. 1 − 2 × 3 =

Question 7. 2 × (−2) − (−5) × 2 =

Question 8. −2 − 2 − 2 =

Question 9. 1 − (−1) × (−1) × (−1) =

Question 10. 3 − (−3) × (−2) =
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